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Time : 3Hrs. Sem - V /T.E
Fab. Manuf.-II

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write down the various causes of Jack-missing. In

order to provide the required time to pass a shuttle

across the shed what are the important provisions 

which are made in dobby shadding?

lift double cylinder Jacquard.

 

about common arrangement of griffes for

Jacquards.

OR

OR

8.

6

P.T.O
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

A double lift dobby forms a -

(a) Closed shed

(b) Bottom closed shed

(c) Centre closed shed

(d) Open shed

The failure of any one heald to lift as and 

when required in dobby mechanism is known

as-

(a) Dwell of dobby 

(b) Dobby Timing

(c) Jack Missing

(d) Pegging

                 GROUP  - C

6

6 x 5 = 30
Answer all Five Questions.

Describe the mechanism of working of a climax 

dobby with  a suitable diagram.

7.

1628502

Write about main features of projectile wearing 

machine.

OR
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(iii)

(iii)

(iv)

(ii)

OR

6.

4

connected seperately to its hook by means
of a -
(a) Cord
(b) Harness
(c) Lever
(d) Griffes

has-
(a)  200 hooks and 200 Needles
(b) 400  hooks and 400 Needles
(c) 600 hooks and 600 Needles
(d) None of these

Write down the merits and demerits of water Jet

wearing machines.

Describe briefly the process fo insertion of double 

picks with single rapier.

1628502

4

5.

P.T.O
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3. (iv)

(v)

(v)

(vi)

OR

Normally drop boxes are made of-

(a) 4 shuttles

(b) 6 shuttles

(c)  4 shuttles

(d)  8 shuttles

(a) Left Handed

(b)  Right Handed

(c)  Both (a) and (b)

(d) None of these

Describe briefly the important points which should

be considered prior to Jacquard wearing.

Write down the advantages of a double cylinder 

Jacquard.

What are the important attachments which are 

essentials for operating pirn changing mechanism?

Describe briefly.

Write a short note on reserve bunch of weft and its

effect on the quality of the cloth.

4

1628502

4

4.

OR

P.T.O
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
4 x 5 = 20

2.
4

The device which stores, in advance of 
insertion, a length of weft to be withdrawn
at high speed is called as-
(a) Weft cutter
(b) Nozzle
(c) Weft Accumulator
(d) None of these

Loom downtime should be possibly-
(a) High
(b) Low
(c) Medium
(d) None of these

Write about scope and uses of dobby.

1628502

OR

P.T.O
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(viii)

(ix)

(ix)

(a) Hydrophobic fibres are woven

(b) Hydrophillic fibres are woven

(c) Both (a) and (b)

(d) None of these

0 0
(a) 0 to 150 

00
(b) 0 to 210

00
(c) 210 to 230

00
(d) 150 to 210

energy requirement-

(a) AirJet 

(b) Projectile

(c) Gripper

(d) WaterJet

(a) Loom Banging off

(b) Low warp tension

(c) Highly twisted yarn

(d) Soft yarn

1628502

(x)

(xviii)

(xix)

(xx)

(xix)

P.T.O
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Due to difference in pick spacing, a bar is 

formed in the cloth which is known as-

(a) Pick bar

(b) Torsion bar

(c) Weft bar

(d) Floats 

Dobcross dobby is a positive and

(a) Closed shed

(b) Open shed

(c) Centre closed shed

(d) None of these

is always-

(a) Equal to the number of Needles

(b) Half the number of Needles

(c) Double the number of Hooks

(d) Half the number the Hooks

(a) Left hand side of Loom

(b) Right hand side of the Loom

(c) Centre of the Loom

(d) None of these

(xi)

(xi)

(x)

1628502

(xii)

(xvii)

(xvii)

(xviii)

(xvi)

P.T.O
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used in the -

(a) Jute Industry

(b) Nylon Industry

(c) Cotton, Silk and rayon Industry

(d) Woolen and worsted Industry

Jacquard should be exactly-

(a) Under the centre of comber board.

(b) Over the centre of comber board.

(c) In line with centre of comber board

(d) None of these.

(a) Rod Like Structure

(b) Bobbin Like Structure

(c) Beam Like Structure

(d) Tape Like Structure

On an automatic loom changes are effected

from-

(a) Weft Fork

(b) Weft Feeler

(c) Both (a) and (b)

(d) None of these

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)

1628502

(xvi)

P.T.O
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feeder to the projectile with the help of a neat 

diagram.

Explain gabler system of weft insertion with suitable 

sketches.

MURATA Air Jet loom.

9.

10.

6

6

P.T.O

OR
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feeder to the projectile with the help of a neat 

diagram.

Explain Gabler system of weft insertion with suitable 

sketches.

MURATA Air Jet loom.

9.

10.

6

6

P.T.O
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Explain the working mechanism of circular drop

box motion with a neat diagram.

found in the fabric. Also mention their remidies.

OR

11.

6

NT5052

OR

***

18 1628502

Explain the working mechanism of circular drop

box motion with a neat diagram.

found in the fabric. Also mention their remidies.

OR

11.

6
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